CS (Main) Exam, 2020  faq@iv¥ DETACHABLE

Tifirex T @t (wsﬂ-ﬁa I)

COMMERCE AND ACCOUNTANCY (Paper I)

fyfRa awg : 7 992 FferFaH 3w : 250
Time Allowed : Three Hours Maximum Marks : 250
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QUESTION PAPER SPECIFIC INSTRUCTIONS

Please read each of the following instructions carefully before attempting questions :

There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5 are compulsory and out of the remaining, any THREE are to be
attempted choosing at least ONE question from each section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided.
No marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.
Assume suitable data, if considered necessary, and indicate the same clearly.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a
question shall be counted even if attempted partly. Any page or portion of the page left blank
in the Question-cum-Answer Booklet must be clearly struck off.
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1.(a)

1.(b)

1.(c)

1.(d)

1.(e)

2.(a)

qusg ‘A’ SECTION ‘A’
frafafea et 3 & v@s #1 s @ 150 < F S

Answer the following in about 150 words each :

g ¥ 3R w=rem frarmemal & s & = fadies fifdg |

Distinguish between Net Profit and Cash from Operating Activities. 10
fer aheufm@t i ore & Rt wes =0 € 2

What are the various components of cost of fixed assets ? 10
o ok av § i & i e fif |

Distinguish between cost control and cost reduction. 10

A T H IR A S R Wi (T w1 e wen) ¥ wdfe s
qrEagE &1 quiE i |

State the provision of law relating to carry forward and set off of business loss. 10

S et o o sl aR W O e wes e il gt w fEr
Fan ST fEem g |

Discuss the special points that an auditor would take into consideration while
auditing the accounts of a banking company. 10

S5 fafies 3w gefter 9 forn Rl 2,00,000 S R = 9l W 10 W
weara freafafga st w fn

AT F g — 1 ufqd IR
A& & T —  F59fd ™R
(%2, Mifimw & |19)
9Eeil HAT | —  F3ufd IR
(s & 3 Afgr Q)
sifem 7T W —  F3ufg IR

(veeht ®W ¥ 3 Wl awR)
23 30 W 3,27,000 A & T e T fird 3R 30 3 9 =@ WER aEfed

fo o |
R srEfea
() f srees — 38,000
(i) & & 2 WK smEfed —  1,60,000
(i) Mgt & 1 R smefem  — 2,000
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2.(b)

T41,000 F JFF AETH B qoa avm e (41,000 W F smAeE W,
e 915 st 7@ ga) | ¥ @ a9 e W Rl Red 100 9 ¥ Y Rl
AW A T D T AW R 15 TR B Wed 9 RRT T K 16 TSR HY
A | T9URT IR R GG far s |

Il sRfera € % omaws W (e o) wRifat g (Rem ol ¥) |

Z Ltd issued a prospectus offering 2,00,000 equity shares of ¥10 each on the
following terms :

On application -— %1 per share
On allotment — %5 per share
(including premium of ¥2)

On first call — ¥ 3 per share
(3 months after allotment)

On final call — T3 per share

(3 months after first call)

Application money was received for 3,27,000 shares on 23rd April and allotment
made on 30th April was as under :
Shares allotted

(i) Allotment in full — 38,000
(ii) Allotment of  of shares applied for —  1,60,000
(iii) Allotment of } of shares applied for — 2,000

Cash amounting to ¥41,000 (for 41,000 shares applied for upon which no allotment
was made) was returned to applicants forthwith. The amounts due were received on
due dates except with the final call on 100 shares. These shares were forfeited on
15th November and reissued to 4 on the 16th on payment of ¥9 per share.

You are required to give the necessary journal entries (without narratives). 20

q &t fafies s & qoif o1 Saume o=t @ | it w of Y 1,00,000 TE w0
I a4 A frafafaa arm arh @ -

(%)
TaE — 599
TaE 5 — 8WM
ofiendt sEFn sukes — 6 @@
fer sram gufea — 59@

T W YA T2 R | WR YN A IR A @ S € @ W RR wwamn
Sufiera =1 @@=t B ug 99 fRfa 7 32 W@ @ @ s |
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2.(c)

3.(a)

=feg :

@) wmaﬁqwaﬁamaﬂ%q,ﬁnmﬁgqﬁmaﬁmm%zﬁaﬁnﬁ
Suersy glaard fafsea gift 2

(i) R JTeE DR g e Rl qEd wEEl @ $1,50,000 R FRE | @
S gl €, a= F ol e ?

A B Ltd manufactures auto parts. The costs incurred for processing 1,00,000 units
of a component are as follows :
(R in lakhs)

Direct material — 5
Direct labour — 8
Variable factory overhead — 6
Fixed factory overhead — 5

The purchase price of the component is ¥22. The fixed overhead would continue to
be incurred even if the component is bought from outside although there would be
a reduction of ¥2,00,000.
Required :
(i) Should the part be made or bought when the present facility released remains
idle in the event of purchase ? and

(i) If the released capacity can be rented out to another company for
<1,50,000, what would be the decision ? 15

ST 1 AR R | e frst & swrfa fraes frama @ Afsea gl
FT TR HY BT ® 7

Define perquisite. How are rent free accommodation and medical facility valued
under income tax rules ? 15

Y¥ 9w SwE § 9 e gwfva €| QA e b sew gR sfnea € |
e gwfual @ faarw 3@ R R -

wwfa (1) wafa (1)

3 3
Tiffer wyffie e —  1,20,000 1,15,000
aiffes Sfua foreman e, 1,50,000 1,75,000
e aEes fomn — 1,00,000 1,65,000
frmfor quf @ 6t fof —  31.3.2009 31.3.2009
T & GRE @ TRE & — 12% 8%
i & Se gt i weRa & fog,

fog @ o R =™ - = — 55,000
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3.(b)

3.(c)

YA frd qefy o kg w R ® ) wmfa 1 @ R s ® | YR e st
I & o fakor s & foag X

qd1g
() Yo e = AbREe @R qeies & fag g9 ? R
(i) za* forg sRw s@m |

Y has two houses in Chennai. He has self-occupied both the houses. The particulars
of the houses are as follows :

House (I) House (II)

g L2
Municipal value per year — 1,20,000 1,15,000
Fair rent per annum — 1,50,000 1,75,000
Standard rent per year —— 1,00,000 1,65,000
Date of completion of construction — 31.3.2009 31.3.2009
Municipal taxes payable during the year — 12% 8%
Interest on amount borrowed for repair
of both the houses during the current year — Nil 55,000

Y has paid the municipal taxes for House II only. It is due for House 1. Compute the
house property income of Y for the assessment year.

Advice :
(i) Which house should be opted by Y to be assessed as self-occupied ? and

(i) State the reasons for it. 20

e /aRA (P/V) IO q e F arad ® ? T 0T S Bt © ?
- fawwor sfzd@t # @i =1 Swfam € 2
What do you mean by P/V ratio ? How is it computed ? What are its uses in BEP

analysis ? 15

YOI 9T T AMEWI 3(9eqd &1 1 Aaed § 7 Wshd onE faior # e
fora wer frefa fear san R, we hifsg |

What is meant by normal wastage and abnormal wastage ? State how are they treated
in process costing. 15
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4() e fafies i 31.03.20x1 75 & g PrafaRe 2.

2000 ¥ AR, wfy R 100 —
1000, 6% U9, WAF 100 =
SRUYA 1 AT FHET 2
RS TR =
et gfEafaad -
=re wikEafaai _
ot afEafat w1 gAderie =8
BN -

F
2,00,000
1,00,000
12,000
50,000
2,00,000
65,000
1,06,000
48,000

frfafya @ w oof weafy @@ e 6 w=hed 4@
(i) W H TS5 vAF R -fenfra fear 7@ ik 90% VR F e (WR)

fer mar |

(i) R @A & FA @ N TEER 59,000 frm T ok T@w forg IR
¥20,000 & Rt IR (Wi A F F) N smefea Ry W

(iii) SFGR T T A ¥30,000 T WA R e g FeF 1 R ) wiw a
# A R I T wE wge e ww

(v) o W 1 W B @ a1 weg g I T g, S w e T
gAftafer & forg sl sravas e (T a@dt) wRifiat daR w2

The following information relates to Cloud Ltd as on 31.03.20X1 :

2000 Equity shares of 100 each

1000 6% Debentures of ¥100 each
Interest on Debenture outstanding
Trade Creditors

Fixed Assets

Current Assets

Fixed Assets revalued at

Current Assets revalued at

3
2,00,000
1,00,000
12,000
50,000
2,00,000
65,000
1,06,000
48,000

The following scheme was duly agreed and approved by the court :

(i) The shares were sub-divided into shares of ¥5 each and 90 per cent of the

shares were surrendered.

(i) The total claims of debenture holders were reduced to ¥59,000 and in
consideration of this, they were also allotted shares (out of surrendered

shares) amounting to ¥20,000.
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4.(b)

4.(c)

5.(a)

5.(b)

5.(c)

5.(d)

5.(e)

(iii) The creditors agreed to reduce their claims to 30,000, % of which was
satisfied by issue of equity shares out of those surrendered.

(iv) The shares surrendered but not re-issued were cancelled.

You are required to draft the necessary journal entries for the reconstruction. 20

wrla frwres @ W i Aoy faftmt @ wsw # faasm fifg )

Briefly discuss the important methods of measuring divisional performance. 15
fasrsa amw == ® 7 o after R gifvaa wom fs e @ spam N | @
i ferar am ?

What is divisible profit ? How could an auditor ensure that the dividend is not paid
out of capital ? 15

gus ‘B’ SECTION ‘B’
frfofaa uwl 3 ¥ v w1 IW TR 150 it 7 g
Answer the following in about 150 words each :

MEA 1 WR TR A WE Ky ok 50 wrea & siavia fora fafa # amiw
Hify sl Bt R, av= Fifg |

Explain Gordon’s share valuation model and state in which case dividend policy is
irrelevant under this model. 10

ifgn fawl &1 qoieT wa & g ddem-f swe (SwEE) it e
Hifere |

Discuss the Decision-Tree approach for evaluating risky investments. 10
HRA f arr@ R fedr A wvg F § A T SRt ® IR HN?

Out of cost of equity and cost of debt, which one is lower and why ? 10
e fofa womeft % wedt fit @99 # fadw Fiftg |

Briefly explain the components of Indian financial system. 10
wafrs SR #§ ghefEt @ 9 = f falEr w e sase

Enumerate the methods of issue of securities in the primary market. 10
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6.(a)

6.(b)

6.(c)

TF IRANAT & TR kg Va8 369 UK € ¢

T w3 warg (T)

0 — () 1,00,000

1 — 40,000

2 = 50,000

3 — 40,000
Gt A 10% ¥ |

T fifse ;. (1) w0 e f sty (Y- difae)
(i) Yg FE A (W e 9
(i) G & a1 FO qoEt K afy (aefes ¥-3s dfag)
(iv) emawear get (Mfeefaferd $3w)

The expected cash flows of a project are as follows :

Year Cash flows ()
0 — (-) 1,00,000

1 — 40,000

2 == 50,000

3 — 40,000

The cost of capital is 10 per cent.

Calculate : (i) Payback period
(i) Net present value
(iii) Discounted payback period
(iv) Profitability Index

Frer 3R iR wied w1 STER WA T, TEUHT TEad ¥ g 9w F A

¥ I @1 ST ®, WE iR |

Explain how with managerial intervention cash balance is maintained within

limits using Miller and Orr model.

freafafea smuat = i il @@ s e A -
(i) wREufEat | wfawd (3R s Q)

i) fafafm oft = ufoea (s & 9)

(iii) R ® wfwa (R N 9)
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7.(a)

Define and compare the following ratios :
(i) Return on Assets (ROA)
(ii) Return on Capital Employed (ROCE)
(iii) Return on Equity (ROE) 15

ﬁwﬁ-ﬁaaﬁa@ﬁav&%ﬁﬁlﬁnwaﬁﬁuﬁmﬁAaﬁB%mﬁa
Wiﬁﬁm:
(i) T S I

(i) fo<m IAes & wen
(ili) ¥g<H SAIw B qET

T
fashy 90,000
giEdf s 45,000

ufdfeafy 1 15,000
gfefeuafa o 20,000

fraa f=far s -
ST A 20,000
TIsHT B 10,000

Calculate degree of
(i) operating leverage
(i) financial leverage
(iii) combined leverage

from the following data under situations I and II and financial plans A and B.

L4
Sales 90,000
Variable cost 45,000
Fixed operating costs :
Situation I 15,000
Situation II 20,000
Fixed financial costs :
Plan A 20,000
Plan B 10,000 20
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7.(b)

7.(c)

mﬁﬁﬁwwmwmﬁaﬁmaﬁaﬁmﬁﬁaﬂ
fmr W @ ¢ | FrafaRa sy o=y € :

(F’00000)
e fafies | 9 fafies
T d 40 20
A R den (dEt #H) 5 4
LIVARE GEIE] 10 8

AT -
() w fafiee ok o fafies & 9 &1 a9R I |
(ii)m%ﬁ%maé%ﬁﬁﬁaﬁmﬁaﬁ%mmﬁqmmﬁ
& |e |
i) foem ¥ @ T fafee ¥ s 9 H wen |

X Ltd is contemplating taking over Y Ltd by issue of shares based on market price
of shares. The following data are available :

(¥°00000)
X Ltd Y Ltd
PAT 40 20
No. of equity shares (in lakhs) 5 4
P/E ratio 10

Find :
(i) Market price of shares of X Ltd and Y Ltd
(i) Number of shares to be issued by X Ltd for taking over Y Ltd
(iii) Number of equity shares of X Ltd after merger. 15

IR R FRvE ¥ R 9 e o ¥ o v € o ot ¥ o A ¥ SRR
fafea € 2

What are the powers vested with the SEBI to protect the interests of investors in the
stock market ? 15
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8.(a)

8.(b)

8.(c)

g FRARIE I JrEd & 30 7 = SUR wem &t ® | ot adam fah
HER TS50 @ R | BH A OGN AwE 10% B 3R fuht @ aewl awe srura
0-85 & |

Jfry IR afr N SgER 6oﬁam$®mﬁwa«t@%|wm%wﬁm
® T fooht 35 @@ sifts s sl | foufh & wg @ ww @ aaE 1% @ TeR
2% B W@ |

JUR FEfY SgM § W9 W U a1 UHIG T Gedieh R | R A /e W 3K
¥ # 360 foT 7w |

Zenith Corporation provides 30 days credit to its customers. Its present level of sales
is ¥ 50 lakhs. The firm’s cost of capital is 10 per cent and the ratio of variable costs
to sales is 0-85.

Zenith is considering extension of credit period to 60 days. Such an extension is

likely to push sales up by ¥5 lakhs. The bad debt proportion to sales would rise from
1 per cent to 2 per cent.

Evaluate impact of extension of credit period on profits. Ignore tax and assume
360 days a year. 20

ol BT & T 31 oS (A2 ATRIET TH) Aew | wE fifvm |

T A SR AW 15% R ST 0T o IO Y ¥ | O 3 a7 WIS % SR
TR G G AR T SR ST RO S S 40% ¥ ?

Explain NOI (Net Operating Income) model of capital structure.

A firm’s cost of equity at zero leverage is 15 per cent. What would be its overall cost
of capital at 40 per cent leverage under NOI model ? 15

Trg frukor & oMo wr wEwa € ? WU (e wfafm oz fRed) & Tma
wgoh arg frafor srigomeh = e 6l |

What do you mean by credit rating ? State the credit rating methodology followed
by CARE (Credit Analysis and Research) 15
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